&

walther
prazisiaon

BPC c nonHou 3awinToun ot
yTeyeK npu pasbeguHeHUn
a5 HU3KUX JaBneHumn

Low Pressure CepMﬂ CT
Clean Break Coupling Series CT




Cepua CT

BPC c nonHou 3alimMTon OT yTeueKk Npyu pasbeaMHEeHUN AN HU3KMX JaBreHUn
. : walther
Series CT Low Pressure Clean Break Coupling prazision
OnucaHue: Description:
BPC ¢ nonHoi 3aluTol OT yTeuek npy pasbeanHeHNN cepum The clean break couplings of the CT series are our latest
CT npuHagnexart K nocneaHemy nokonexuio 6PC, npumens- generation push fo connect couplings for low pressure
gl\an;;x AnNs COeANHEHUs1 KOHTYPOB C HU3KUM AaBreHuem (8o 64 applications (up to 64 bar).
[laHHas cepusi NpUMEHsIeTCs B Tex obnacTsix, rae TpebyeTcs This series is suitable for all applications which demand
obecneynTb MUHUMYM yTEYEK, 3aLUMUTy OT HEMPABUIBHOTO minimal leakage, fool-proof handling and a high flow rate.
06palLeHs 1 BbICOKYHO MPOMYCKHYIO CMOCOBGHOCTb COEANHEHMIA. It is made of stainless steel.
BPC paHHoOM cepvmn N3roToBneHbl N3 HepXaBetoLLen cTarnwu.
OcobeHHOCTH: Features:
* aBTOMaTN4ECKOE COeANHEHNE OHON pyKon obecnevmBaeT * Easy connection with automatic lock

NErkocTb coeNHEHNs

* Non-squirting connection and disconnection, i.e.
* COEMHEHVE N pa3befUHEHNE NPONCXOOST NpakTnyeckn bes

yTeueK 3a CYET crieLmarbHOM 3aLuThl virtually no leakage - .

* ANS coeAnHeHNsa TpebyeTcs NPUNOXNUTL NULLb HeGorbLLoe * Low couple force even with non-lubricating fluids
ycunue, fjaxe B cllydae KOHTypoB C HECMa304HbIMU * Connection under residual pressures (see technical
XKNOKOCTAMM data)

¢ coeanHeHne BO3MOXHO Npu HannM4ynm oCctaTtovyHOro aaeneHna . 0D

B KOHType (CM TexHu4yeckme ,anHble) U ngh HOW rate (CV) dUe to HOW Ophmlsed VGIVe

* BPC otnunyatotcst BbIcokuM koadhgprumeHTom pacxoda (Cv) sa geometries

ST QM AEN| IOl (007 (el (EalAl] [nEiniElntE] * Size19 mm available with ring grip option for an

* BPC gnameTtpom 19 MM onuMoHanbHO MOryT OCHaLLATbCS

KOMNbLEBbIM 3aXBaTOM /115 0BMEerdyeHys MaHUnynsaumn easier handling

* BO3MOXHO B3pbLIBO6E30NacHoe NCMOMHEHNE B COOTBETCTBUM * Available in an ATEX conforming version
co ctaHgaptom ATEX * Temperaturange: —20 °C to 130 °C /
* akcnnyataumsa BPC npu Temnepatypax ot —20 °C go 130 °C/ (other temperature range on inquiry)

(opyrve gManasoHbl- NOA 3akas)

. We recommend:
PekomeHaauma: The self sealing adaptors should be rigidly mounted and the

Ans nydwe COXpaHHOCTM yNIOTHEHNA HUNNenu creayet self sealing couplings should be used as free parts which
KECTKO 3aKpenssiTb, a B kayecTBe CBOOOAHLIX NomnoBuH BPC .
protects the sealing faces.

ncnonb3oBatb MydTbl.

Mpu onpepeneHun paboyero AaBnexus akcnnyatauum BPC B
pacyéT JOMKHbI MPUHMMATLCSA €ro HOMUHarbHoe paboyee
[aBreHVE N MakcumarbHoe paboyee AaBreHne CTaHaapToB — —
pe3bb noakntoYeHust =11 -
= RN
When determining the operating pressure, the specific working - T ) - ‘IE AR I ( i -
pressure of the coupling, and the maximum working pressure of c% :
the end connection standard must be taken into account. | kil -
L L
T N
Y\
al <| ~f{-- - - o
v
sw_/
Hunnenb c knanaHom / Self sealing adaptor MydTa ¢ knanaHom / Self sealing coupling
TexHuveckue aaHHble / technical data: MoXer
Paboyee [aBneHue NOAKMNIOHATLCH NOA o YnnotHeHus / Seals:
. 00bEM
Working pressure OCTATOHbIM cpTopKayuyk
AaBnieHrem / can be|  yTeuek Koadh Mo creumanbHOMy 3akasy JOCTYMHbI
COGANH. Pa3bLEANH. connected under amount of pacxopia YNIIOTHEHNS 13 ApYrX MaTepuanos
connectec_i dlsconnecteq residual pressure Ieaka%e G- value (3MNAK, nepcbTopkayuyk v ap.)
Tun DN | [6ap] | [psi] | [6ap] | [psi] | [6ap] | [ps] (] Other seal qualities on request
(EPDM, FFKM ...)
CT-005 5 64 928 30 435 25 362 0,] 0,8 MaTepManb| | Materials:
Kopnyc: Hepxasetowlas ctans 1.4305
CT-007 7 64 928 30 435 10 145 0,1 1,85 NpYXuHbl: Hepxasetowas ctanb 1.4310
c1-009 | 9 64 | 928 | 30 | 435 | 10 | 145 | o1 g5 || s sieilzss sizel 1280
Springs: stainless steel 1.4310
CT-012 12 64 928 30 435 8 116 0,15 4,5
CT-019 19 40 580 30 435 2 29 0,3 9,8 * npu gaeneHnm 3,5 6ap / at 50 psi

2



Cepua CT

Series CT Lo prossure Clean Break Goupling. -+ o o AEBE wELther
Homep ans 3akasa
Part number CoeguHeHune A Cepwus | [H tpy6bi Bec (r)
AN s g Connection A Series | Pipe OD| DN D SW L T N Weight (g)
CT-005-0-WR013-02-2 G1/4A 26,2| 19 |68,5]| 11 160
CT-005-0-WR017-02-2 G 3/8A 26,2 19 | 69512 170
CT-005-0-WR021-02-2 G1/2A 262 | 22 |725]|15 190
CT-005-0-VRO13-02-2 G1/4A 6 26,2 19 68511 160
CT-005-0-VRO17-02-2 G 3/8A 6 26,2 19 69512 170
CT-005-0-D0614-02-2 M14x1,5 6 26,2 19 | 67,510 160
CT-005-0-DV008-02-2 M14x1,5 6 26,2 19 |89,5]| 32 180
g CT-005-0-L0612-02-2 M12x1,5 L 6 4 26,2 19 | 67,510 160
g CT-005-0-L0814-02-2 M14x1,5 L 8 6 26,2 19 | 67,510 160
-(_%) CT-005-0-L1016-02-2 M16x1,5 L 10 8 26,2 19 | 68511 160
E CT-005-0-L1218-02-2 M18x1,5 L 12 10 26,2 19 |685]| 11 160
é CT-005-0-S1018-02-2 M18x1,5 S 10 6 26,2 19 | 68,512 170
% CT-005-0-S1220-02-2 M20x1,5 S 12 8 26,2 22 | 69512 180
g CT-005-0-LV008-02-2 M14x1,5 L 8 6 26,2 19 |89,5]| 32 180
; CT-005-0-XX211-02-2 M16x1,5 L 10 8 26,2 19 |89,5]| 32 190
g CT-005-0-WR513-02-2 G1/4 26,2 19 |67,5|13 170
CT-005-0-WR517-02-2 G 3/8 26,2 19 | 685 |14 170
CT-005-0-SL006-02-2 6 MM 26,2 19 |825]|25 160
CT-005-0-SL009-02-2 9 MM 26,2 19 |87,5|30 160
CT-005-0-SLO11-02-2 11 Mm 26,2 19 |87,5]|30 170
CT-005-0-SL013-02-2 13 Mm 26,2 19 |87,5|30 180
CT-005-0-NP513-02-2 NPT 1/4"IG 26,2 19 |72,5|17 180
CT-005-0-NP517-02-2 NPT 3/8" IG 26,2 19 |725]|18 180
CT-005-0-LH014-02-2 9/16-18UNF-3A-JIC 26,2 19 | 71,5 14.1 170
_ CT-005-2-WR013-02-2 G1/4A 26 19 |54 11 22 72
é‘ CT-005-2-WR017-02-2 G3/8A 26 22 |55 12 22 77
_% CT-005-2-WR021-02-2 G1/2A 26 22 |58 15 22 97
§ CT-005-2-VR0O13-02-2 G1/4A 6 |26 19 |54 11 22 72
E;) CT-005-2-VR0O17-02-2 G 3/8 A 6 |26 19 |55 12 22 77
§ CT-005-2-D0614-02-2 M14x1,5 6 |26 19 |53 10 22 72
g CT-005-2-DV008-02-2 M14x1,5 6 |26 19 |75 32 22 87
" CT-005-2-L0612-02-2 M12x1,5 L 6 4 |26 19 |53 10 22 67
E CT-005-2-L0814-02-2 M14x1,5 L 8 6 |26 19 |53 10 22 72
T CT-005-2-L1016-02-2 M16x1,5 L 10 8 |26 19 | 54 11 22 72




Cepua CT

BPC c nonHou 3alymMTon OT yTeueKk Npu pasbeaMHeHUN AN HU3KMX JaBreHUn

Series CT Low Pressure Clean Break Coupling walther

prazision

Homep ans 3akKkasa
Part number CoenuHeHune A Cepwus |aH rpy6ei Bec (r)
b SREhSHnn Connection A Series |Pipe OD | DN D |SW L T N |Weight (g)
CT-005-2-L1218-02-2 | M 18x1,5 L 12 [ 10 [26 | 19 [54 |17 22 72
g CT-005-2-S1018-02-2 | M18x 1,5 S 10 6 |26 19 [ 55 12 22 77
}'(: CT-005-2-S1220-02-2 | M20x 1,5 S 12 8 |26 22 |55 |12 22 87
% CT-005-2-LV008-02-2 M14x1,5 L 8 6 |26 19 |75 |32 22 87
(O]
2 | CT-005-2Xx211-02-2 | M16x1,5 L 10 8 |26 | 19|75 |32 | 22 97
§ CT-005-2-WR513-02-2 | G 1/4 26 19 |53 |13 22 85
§ CT-005-2-WR517-02-2 | G 3/8 26 22 |54 |14 22 82
©
= CT-005-2-SL006-02-2 6 MM 26 19 168 |25 22 67
E CT-005-2-SL009-02-2 9 MM 26 19 |73 |30 22 72
g CT-005-2-SL011-02-2 11 mm 26 19 |73 |30 22 77
:% CT-005-2-SL013-02-2 13 Mm 26 19 |58 |30 22 87
CT-005-2-NP513-02-2 | NPT 1/4"1G 26 19 |58 |17 22 85
CT-005-2-NP517-02-2 | NPT 3/8"1G 26 19 |58 |18 22 80
CT-005-2-LH014-02-2 | 9/16-18UNF-3A-JIC 26 19 |57 |[14,1] 22 70
SK-028-9-17325-AAAATOTS | 17672 menessus romasen
SL-014-9-17325-AAAAT022 | Dottt "
CT-007-0-WR017-02-2 | G 3/8 A 32,7 25|78 |12 260
CT-007-0-WR021-02-2 | G 1/2 A 32,7 24 |81 15 270
CT-007-0-VRO17-02-2 | G3/8 A 7 32,7 24 |78 [12 250
_g’ CT-007-0-D0816-02-2 | M16x 1,5 8 32,7 24 |77 |11 260
?81 CT-007-0-DV010-02-2 | M 16 x 1,5 8 32,7 24 |99,5|33,5 270
§ CT-007-0-L1016-02-2 | M16x 1,5 L 10 8 32,7 24 |77 |11 250
ES’ CT-007-0-L1218-02-2 | M 18x 1,5 L | 12 [10 (32,7 24 (77 |17 250
E) CT-007-0-S1220-02-2 | M20x 1,5 S 12 8 [32,7| 24 |78 |12 260
\E CT-007-0-WR517-02-2 | G 3/8 32,7 24 (78 (14 270
2
@ CT-007-0-WR521-02-2 | G 1/2 32,7 | 27 |81 17 290
g CT-007-0-SL009-02-2 9 MM 32,7 24 (96 |30 260
; CT-007-0-SLO11-02-2 11 Mm 32,7| 24 196 |30 260
g CT-007-0-SL0O13-02-2 13 Mm 32,7 24 196 |30 270
CT-007-0-NP517-02-2 | NPT 3/8"1G 32,7 24 (82 |18 280
CT-007-0-LHO14-02-2 | 9/16-18UNF-3A-JIC 32,7 24 (80,1 14,1 250
g% CT-007-2-WR013-02-2 | G 1/4 A 26 19 |53 11 27 73
% g’ CT-007-2-WR017-02-2 | G 3/8 A 26 19 (54 (12 | 27| 78
g “;g CT-007-2-WR021-02-2 | G 1/2 A 26 22 |57 |15 27 88



Cepua CT

BPC c nonHou 3alimMTon OT yTeuYeKk Npy pasbeanHeHUU Ansi HU3KUX JaBreHUn

Low Pressure Clean Break Coupling waLther

prazision

Series CT

Homep ans 3akKkasa
Part number CoenuHeHune A Cepwus | oH Tpy6e Bec (r)
vable ot short i Connection A Series |PipeOD| DN | D [ SW L T N | Weight (g)
CT-007-2-VR013-02-2 | G 1/4 A 6 (26 |19 |53 |11 |27 73
CT-007-2-VRO17-02-2 | G 3/8 A 6 (26 |19 |54 |12 |27 78
CT-007-2-D0614-02-2 | M 14x 1,5 6 (26 |19 |52 |10 |27 73
CT-007-2-DV008-02-2 | M 14x 1,5 6 |26 |19 |74 |32 |27 93
CT-007-2-L0612-02-2 | M12x 1,5 L 6 | 4126 |19 |52 |10 |27 73
- | c1007-2-L0814-02-2 | M14x1,5 L 8 | 6 [26 |19 [52 |10 |27 73
;% CT-007-2-L1016-02-2 | M16x 1,5 L | 10| 8|26 [19 [53 [11 |27 73
é CT-007-2-L1218-02-2 | M18x 1,5 L | 12 |10 |26 |19 [53 [11 |27 73
T§ CT-007-2-51018-02-2 | M18x 1,5 s | 10| 626 |19 |54 |12 |27 83
E CT-007-2-51220-02-2 | M20x 1,5 s | 12| 8 (26 |22 |54 |12 |27 93
\g CT-007-2-LV008-02-2 | M14x 1,5 L 8 | 6 |26 |19 |74 |32 |27 93
2
8 | CT-007-2-XX211-02-2 [ M16x1,5 L | 10| 8 |26 [19 |74 [32 |27 103
S | croo72.wrs13.:02:2 | G 1/4 26 |19 |52 [13 |27 83
; CT-007-2-WR517-02-2 | G 3/8 26 |22 [53 [14 |27 83
E CT-007-2-5L009-02-2 | 9 mm 26 |19 |72 |30 |27 73
T | cT.007-2-5L011-02-2 | 11 mm 26 |19 |72 |30 |27 73
CT-007-2-5L013-02-2 | 13 mm 26 |19 |72 |30 |27 83
CT-007-2-NP517-02-2 | NPT 3/8"IG 26 |19 |57 [18 |27 82
CT-007-2-LH014-02-2 | 9/16-18UNF-3A-JIC 26 |19 |56 |14,1] 27 71
$K-033-9-22328-AAAATO17 | et cem e
SL-018-9-17325-AAAATO28 | Dot roms s
Z 2| CT-009-0-WR017-02-2 | G 3/8 A 35,4 25 | 83 |12 333
§ § CT-009-0-WR021-02-2 | G 1/2 A 354| 25 |86 |15 343
- S | CT-009-0-WR521-02-2 | G 1/2 35,4| 27 | 86 |17 283
§~§ CT-009-0-SL013-02-2 | 13 mm 354| 25 [101 |30 273
CT-009-2-WR017-02-2 | G 3/8 A 28 |25 [68 [12 |30 | 130
8 5| CT-009-2-WR021-02-2 | G 1/2 A 28 |25 [71 [15 | 30 140
ég CT-009-2-WR521-02-2 | G 1/2 30 |27 |71 [17 |30 | 180
;% CT-009-2-5L013-02-2 | 13 mm 28 |25 |86 |30 |30 170
%U% CT-009-2-NP521-02-2 | NPT 1/2"1G 30 |27 |73 |22 |30 190
CT-009-2-LH014-02-2 | 9/16-18UNF-3A-JIC 28 | 25 |70,1| 14,1] 30 120
SK-035-9-24430-AAAATO17 | /T omeneih o
$L-020-9-24430-AAAATO30 | fumrens o oneseu romasen



Cepua CT

BPC c nonHou 3awlymMTon OT yTeuYeKk Npy pasbeanHeHUN ANsi HU3KUX JaBReHUn

Series CT Low Pressure Clean Break Coupling waLther

prazision

Homep ans 3akasa
Part number CoeauHeHmne A Cepus | [IH tpy6bi Bec (r)
e i Connection A Series [PipeOD|DN [ D [SW [ L [ T [ N [Weight(g)
CT-012-0-WR021-02-2 G1/2A 40 [ 32 | 80|15 380
CT-012-0-WR026-02-2 G3/4 A 40 |32 | 82|17 410
2 | cr-012-0-WR033-02-2 G1A 40 | 32 | 8620 470
?g? CT-012-0-VR021-02-2 G1/2A 12 | 40 | 32 | 8015 380
é CT-012-0-VR026-02-2 G 3/4 A 12 |40 |32 | 8217 400
?‘,,\3 CT-012-0-D1222-02-2 M22x1,5 12 |40 [ 32 | 77|17 380
E—’ CT-012-0-DV015-02-2 M22x1,5 12 | 40 | 32 [ 104 |39 430
\g CT-012-0-L1218-02-2 M18x1,5 L 12 |10 |40 |32 | 76|11 370
§ CT-012-0-L1522-02-2 M22x1,5 L 15 |12 |40 | 32 | 77|12 380
% CT-012-0-51624-02-2 M24x1,5 S 16 |12 |40 | 32 | 79|14 390
g CT-012-0-WR521-02-2 G 1/2 40 |32 | 79|17 420
< | cT-012-0.WR526-02-2 G 3/4 40 |32 | 8119 400
CT-012-0-5L016-02-2 16 MM 40 | 32 |100 |35 390
CT-012-0-5L019-02-2 19 MM 40 | 32 | 100 |35 410
CT-012-0-NP521-02-2 NPT 1/2"1G 40 | 32 | 84|22 480
CT-012-0-LH022-02-2 7/8-14UNF-3A-JIC 40 | 32 | 84193 400
CT-012-2-WR021-02-2 G1/2A 40 [ 32 | 76 [15 | 30 260
CT-012-2-WR026-02-2 G3/4A 40 [ 32 [ 78 [17 | 30 290
. | cr012-2:wR033-02-2 G1A 40 |32 [ 82 [20 | 30 350
% CT-012-2-VR021-02-2 G1/2A 12 |40 | 32 | 76 |15 | 30 260
% CT-012-2-VR026-02-2 G 3/4 A 12 | 40 | 32 | 78 |17 | 30 280
g CT-012-2-D1222-02-2 M22x1,5 12 |40 |32 | 73 |12 | 30 260
"g} CT-012-2-DV015-02-2 M22x1,5 12 | 40 | 32 |[100 |12 | 30 260
< | cro12-2-11218-02-2 M18x1,5 L 12 |10 |40 |32 |72 |11 | 30 250
g CT-012-2-L1522-02-2 M22x1,5 L 15 |12 |40 |32 [ 73 |12 | 30 260
| cro12-2-51624-02-2 M24x1,5 S 16 |12 |40 |32 [ 75 |14 | 30 270
; CT-012-2-WR521-02-2 G 1/2 40 | 32 | 78 [17 | 30 300
E CT-012-2-WR526-02-2 G 3/4 40 [ 32 [ 80 [19 | 30 280
T | cro12-2-5L016-02-2 16 MM 40 |32 |96 [35 | 30 270
CT-012-2-5L019-02-2 19 MM 40 [ 32 [ 96 [35 | 30 290
CT-012-2-NP521-02-2 NPT 1/2" I1G 40 |32 |83 [22 | 30 360
CT-012-2-LH022-02-2 7/8-14UNF-3A-JIC 40 | 32 | 83 |19,3] 30 280
SK-040-9-35442-AAAATOT7 | 1T ae e
SL-022-9-35442-AAAATO30 | s o memior




Cepua CT

BPC c nonHou 3awmMTon OT yTeuyek Npy pasbeanHeHUU ANsi HU3KUX JaBRneHUN

Series CT Low Pressure Clean Break Coupling waLther

prazision

Homep ans 3akKkasa
Part number CoeanHeHue A Cepus |[H tpy6el Bec (r)
e pengire Connection A Series |Pipe OD [ DN D SW L T N Weight (g)
CT-019-0-WR026-02-2 G3/4A 58 | 46 [128 |17 1390
CT-019-0-WR033-02-2 G1A 58 | 46 [ 131 |20 1420
£ | CT-019-0-VR026-02-2 G 3/4 A 19 | 58 | 46 | 128 [17 1380
% CT-019-0-VR033-02-2 G1A 19 | 58 | 46 | 131 |20 1420
% CT-019-0-DV022-02-2 M30x1,5 19 | 58 | 46 | 156 | 45 1470
E CT-019-0-L2230-02-2 M30x1,5 L 22 20 | 58 | 46 | 125 |14 1380
é CT-019-0-52536-02-2 | M 36 x 2 S 25 | 20 | 58 | 46 129 [18 1410
% CT-019-0-WR526-02-2 G 3/4 58 | 46 [122 |19 1440
E CT-019-0-WR533-02-2 G1 58 | 46 | 126 |23 1430
E CT-019-0-SL019-02-2 19 mm 58 | 46 | 146 |35 1400
§ CT-019-0-5L025-02-2 25 mm 58 | 46 [ 151 |40 1420
CT-019-0-5L028-02-2 28 mm 58 | 46 | 156 | 45 1470
CT-019-0-NP526-02-2 NPT 3/4" 1G 58 | 46 | 127 | 23,5 1460
CT-019-0-027-02-2 11/16-12UN-3A-JIC 58 | 46 | 133 |22 1360
CT-019-2-WR026-02-2 G3/4A 52 | 46 | 99 [17 | 44 570
5 |CT-019-2-WR033-02-2 G1A 52 | 46 | 102 [20 | 44 600
% CT-019-2-VR026-02-2 G 3/4A 19 | 52 |46 | 99 |17 | 44 570
% CT-019-2 -VR033-02-2 G1A 19 | 52 | 46 | 102 |20 | 44 600
% CT-019-2 -DV022-02-2 M30x1,5 19 | 52 | 46 [ 127 [45 | 44 650
UE’ CT-019-2 -12230-02-2 M 30 x 2 L 22 |20 [ 52 | 46 | 96 |14 | 44 550
£ |CT019-2 -52536-02-2 M 36 x 2 S 25 | 20 | 52 | 46 | 100 |18 | 44 590
‘;“ CT-019-2 -WR526-02-2 G 3/4 52 | 46 | 93 |19 | 44 620
E CT-019-2-WR533-02-2 G1 52 | 46 | 97 |23 | 44 610
E CT-019-2-5L019-02-2 19 MM 52 | 46 [ 117 |35 | 44 580
- CT-019-2-5L025-02-2 25 MM 52 | 46 [ 122 |40 | 44 590
CT-019-2-5L028-02-2 28 MM 52 | 46 | 127 |45 | 44 660
CT-019-2-NP526-02-2 NPT 3/4" 1G 52 | 46 | 98 | 23,5| 44 640
CT-019-2-LH-027-02-2 1 1/6-12UN-3A-JIC 52 | 46 | 104 [22 | 44 540
SK-058-9-47455-AMATO20 | Bt oo amnia
SL-035-9-44450-AAAATO46 | Dt ren moimmion e




Cepua CT

BPC ¢ nonHom 3aliuTON OT yTe4YeK Npu pasbeauHeHUU Onsi HU3KUX AaBneHumn

Series CT Low Pressure Clean Break Coupling waLther

prazision

Mpacduk npousBogutenbHocTn / Performance diagram

KoadhdumuumeHT pacxoga Cv: TecT B cooTB. co ctaHaapTtom DIN IEC 534 nposenéH ¢ Bogoit Temnepatypoii 20 °C / F low rates Cv: test acc. to DIN |IEC 534 with water at 20 °C

042 054 48 6 60 m3h
0,06 0,12 0,18 0,24 03 036 | 0,38|0,6 1,2 1,8 24 3 3642 |54 12 18 24 30 36 4248 54
5
4
3
= z
o
©, 2
~
Qo
1 ri 2]
o L4
11 . ’
< ,
1 i L L 4 4
[} 7 7
8 0,9 a
5] 08 o/
% 0,7 A/?J
© 0,6 o /
o 7 Q /
a 0,5 19
o 04 '/\'Q
a / O
-
s 03
=
I ' & 7
2 /
m
0.2
s e e e e L e i e e e e B e e e e (A1 B R 8 e e e A} e e o e e e e E A 1 e B A A A O} e e
n 7
2
(8]
[e)
z —
@ / S
o 01 U - g
1 2 3 4 5 6 7 8 910 20 30 40 50 60 70 8090 200 300 400 500 700 | 900 8
100 600 800 1000  n/mMUH .
N
2
Monenu U onuuMoHalribHble KOMMNeKTyroumue
ﬁ‘ﬁt
CT-019-0-Z02
£ .2
s 9 v kak 1 B BPC ans
™
_.3,/3 i ! aBapuiiHOro pacLennexns,
3 pacuenneHne npoucxoamT
C MOMOLLbIO crneumnansHoro
Tpoca

as emergency release
coupling, release via trac-
tion rope

MblnesawmTHbIe Konnayky u 3arnyLwky us My
dust caps and dust plugs made of PUR

*hs. =
\t\ > CT-019-0-GG
N y C KOmbLIEBbIMM 3axBaTamu Ans obnerdyeHus

MaHUMyNAuui
with ring grips for easier handling

CT-019-0-Z03 -

C KOMbLEBbIMWX 3axBaTaMu Ans . h(

obneryeHns MaHMNynAUni \N .
S

with plastic discs for heat insulation

Carl Kurt Walther GmbH & Co. KG

Hausadresse / Head office: Postadresse / Postal address:

Westfalenstrafie 2 Postfach 420444 th

42781 Haan, Germany 42404 Haan, Germany 0 Choose the Original Wa . . E r

Telefon: +49 (0) 21 29 567-0 eMail: info@walther-praezision.de Choose Success! n

Telefax: +49 (0) 21 29 567-450 Internet: www.walther-praezision.de prEZIEID
IIpencraButensctBo B Poccuu u CHI': TTonomapes Cepreii Hukonaesuu

Temn.:+7 965 777 00 88 e-mail:sponomarev(@walther-praezision.de
®akc: +7 812 318 14 54 skype: ponomarevsergio CaiiT Ha pyCCKOM SI3bIKE: WWW.OBICTpOpa3bEMBL.pd

WALTHER-PRAZISION @





